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HPE_CIEF10-Zapfenempfindlichkeit y−max(λ)=1
l−F10,1(λ)=B11x

−
F10,1(λ)+B12y

−
F10,1(λ)+B13z

−
F10,1(λ)

B1j 0,2170 0,8357 −0,0435 (λ~570)
D65: Σl−F10,1(λ)=23,05

xF10,1=0,3136 yF10,1=0,3311
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HPE_CIEF10-Zapfenempfindlichkeit y−max(λ)=1
m−F10,1(λ)=B21x

−
F10,1(λ)+B22y

−
F10,1(λ)+B23z

−
F10,1(λ)

B2j −0,4299 1,2038 0,0862 (λ~545)
D65: Σm−F10,1(λ)=20,60

xF10,1=0,3136 yF10,1=0,3311
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HPE_CIEF10-Zapfenempfindlichkeit y−max(λ)=1
s−F10,1(λ)=B31x

−
F10,1(λ)+B32y

−
F10,1(λ)+B33z

−
F10,1(λ)

B3j 0,000 0,000 0,4657 (λ~445)
D65: Σs−F10,1(λ)=11,57

xF10,1=0,3136 yF10,1=0,3311
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HPE_CIEF10-Zapfenempfindlichkeit Ysum=100
l−F10,s(λ)=B11x

−
F10,s(λ)+B12y

−
F10,s(λ)+B13z

−
F10,s(λ)

B1j 0,2170 0,8357 −0,0435 (λ~570)
D65: Σl−F10,s(λ)=99,46

l−F10,s(λ1,m,2)=2,08, 4,18, 2,08
λ1,m,2=504, 555, 617
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HPE_CIEF10-Zapfenempfindlichkeit Ysum=100
m−F10,s(λ)=B21x

−
F10,s(λ)+B22y

−
F10,s(λ)+B23z

−
F10,s(λ)

B2j −0,4299 1,2038 0,0862 (λ~545)
D65: Σm−F10,s(λ)=88,90

m−F10,s(λ1,m,2)=2,20, 4,41, 2,19
λ1,m,2=491, 540, 583
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Wellenlänge λ /nm
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HPE_CIEF10-Zapfenempfindlichkeit Ysum=100
s−F10,s(λ)=B31x

−
F10,s(λ)+B32y

−
F10,s(λ)+B33z

−
F10,s(λ)

B3j 0,000 0,000 0,4657 (λ~445)
D65: Σs−F10,s(λ)=49,95

s−F10,s(λ1,m,2)=2,45, 4,90, 2,44
λ1,m,2=426, 450, 473
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HPE_CIEF10-Zapfenempfindlichkeit l−max(λ)=1
l−F10,n(λ)=[B11x

−
F10,n(λ)+B12y

−
F10,n(λ)+B13z

−
F10,n(λ)]/

B1j 0,2170 0,8357 −0,0435 (λ~570)
D65: Σl−F10,s(λ)=99,46

l−F10,s(λ1,m,2)=2,08, 4,18, 2,08
λ1,m,2=504, 555, 617
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HPE_CIEF10-Zapfenempfindlichkeit m−max(λ)=1
m−F10,n(λ)=[B21x

−
F10,n(λ)+B22y

−
F10,n(λ)+B23z

−
F10,n(λ)]

B2j −0,4299 1,2038 0,0862 (λ~545)
D65: Σm−F10,s(λ)=88,90

m−F10,s(λ1,m,2)=2,20, 4,41, 2,19
λ1,m,2=491, 540, 583


